
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique decimais por potências negativas de dez

7423, 3 × 0.0001 = ________ 8050, 4 × 0.0001 = ________

3525, 6 × 0.0001 = ________ 2178, 1 × 0.1 = ________

2220 × 0.0001 = ________ 6237, 1 × 0.1 = ________

5760, 2 × 0.0001 = ________ 7751, 7 × 0.1 = ________

3162, 6 × 0.1 = ________ 3866, 5 × 0.0001 = ________

7461, 8 × 0.01 = ________ 2536 × 0.0001 = ________

8881, 1 × 0.01 = ________ 4961, 1 × 0.1 = ________

9911, 3 × 0.1 = ________ 6621, 7 × 0.001 = ________

1965, 4 × 0.0001 = ________ 1471, 4 × 0.0001 = ________

3797, 9 × 0.1 = ________ 5476, 6 × 0.1 = ________
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Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique decimais por potências negativas de dez

7423, 3 × 0.0001 = 0.74233 8050, 4 × 0.0001 = 0.80504

3525, 6 × 0.0001 = 0.35256 2178, 1 × 0.1 = 217.81

2220 × 0.0001 = 0.222 6237, 1 × 0.1 = 623.71

5760, 2 × 0.0001 = 0.57602 7751, 7 × 0.1 = 775.17

3162, 6 × 0.1 = 316.26 3866, 5 × 0.0001 = 0.38665

7461, 8 × 0.01 = 74.618 2536 × 0.0001 = 0.2536

8881, 1 × 0.01 = 88.811 4961, 1 × 0.1 = 496.11

9911, 3 × 0.1 = 991.13 6621, 7 × 0.001 = 6.6217

1965, 4 × 0.0001 = 0.19654 1471, 4 × 0.0001 = 0.14714

3797, 9 × 0.1 = 379.79 5476, 6 × 0.1 = 547.66

www.snowmath.com

https://www.snowmath.com

